—

10

11

12

13

14

15

16

17

18

19

20

21

HEERICISEL TO IKPIDE KR (FR30ERERE] SEEH4
BB KPI H26EME | H27SMl | H 8k | H2oEME | BfE(Hao) | TOOEER gaEHan | T | s
ES € B

%Kﬁimﬁ 1 S = N L L. L. L. L L == L. #(ﬁj(ﬂﬁjﬁ

(H3VEEOAROEEE (MBI SVRAERICE TR NDED £ EIELL 45071 3107 4107 39431 — 39431 RIE 25017 — S5k
A2[E] b 7 A RE)

LYOE -+ JRB 31T 100/ TAff 10114 13344 16014 1634 R | 200 — pefateidi

FELDVWAHEFIZHDHDIA>FIHFDEIE 23.6% . 25.3% (SEEARY - (SEERET | gom 300 L HERE R AL

(35~397%) (H22) (H27) L) L) £ 0 FEORHED:

BFRELFETCXIEICFRLIBZONDTU AT e 4 s - L WL

E AR %2 %ﬁﬁfﬁ\éﬁ?m%ﬁ " i - b i I BT L1 1TiTHT R i B Froin
(HIFE ST HAER

EEMYTISREMER) b : AN g Bh 3K & B S vt

jj{ij]%-lOOAEEIﬁo).U'_%T%ELH%FEﬁEJ]Tﬁ%“rx_é 48% 0 0 0 0 0 > > 0 - @%%A@hﬁﬁ

BEEA . FWHHE T TV AL EORIS 25 o8 ok 8% O e s

IR E R BB — 824t 1574k 2014t 2204t 253t =357 2504t — ey

IR R B R 1307k 130iR% 16/ 7% 164558 1T HiR% 16HEER  RERL | 18MER — Ry i34

U-18—>&H 361 A 460 A 623 A 686.A 550 A ALUN <353 550 A 750 A S

TSR 1ERES XK — — 58t 1354t 1504t 1914t 359 2004k — b

R . 144 51k 814 9ff: 1044 g b 1014 _ S I

ﬁ’ﬁfﬁ’%g& ARBROHIR (&) (AFFHJEAE) | QM- B4R (R7) ouiEE T | R R EHR

550 A.

RN RBD = _tr - ek Aok 3 _ 321 5744 851F 8944 S 851 _ B

#BiEYT) %@%ﬁf—féﬂy%ﬂﬁlvd:%)féikj;jo)E‘jiﬂﬁk1q:$(ﬂ 11142 (21{4312%) (25"4'—1%) (Eﬁl‘%‘) (3214'—1%) EE‘Z (HBOEA%‘) %{éﬁﬁ%%ﬁ

S At A M 2B ok 4T [ — N 2 e T g _ . 48 N\ 88 A g 145 A\ . AR AL

x%ﬁﬂ@i*ﬁf»&é%ﬂi%ﬁt%%ﬂ ZSA (23Ai%) 105]\ (40Ai%) *Eﬁk_ (45’5?5;!2\\%,) E{fﬁi{jﬁ%}%

B g o e (e — o s A7.7% 48% 50.2% 46.9% 48.4% - - i

RARFE (FHE) DR TRREE (orsE) | (sarpd) | (osiks) | (eoskma) | OO | (aremsan NERC) OTh R

A—ToA/R=2a HERBORRERA~D _ 71 1644 2344 281 3044 = 18{F 281 PR

BN AES (9Fm) (5¢518) (5¢Fm) (TH1) = (1293 3 (#3h) A

oA — 8 gy % e 43tk-FK | 51%E-FfK | 50fk-[Hfk | 554t -FfA | e | 5OFR-[HMK | BEFL-HHIK | sesmin

FHAHISZAT ORAERFOR WAL 25H B o | ertemen | e | ) TP | (msomeb) | G1somah) | i

b Boe e A P HbEHE T 2 - L A3 8 B S VERE S S Bk _ 267 15 4315 558 = 650 /. 690 52 307 750 5 _ PESE T3 (B

AR R RS AR HRAR TR L A= (164475%) (127 1) (B3 (132 /18) = (SRR ) PSR

S RIEEEERICRYARIARATND . 3411 5014 8844 5014 12244 = 5014 9014: BE 5

2Rl 4 PR 2K (16/4) (38f418) (%3 (et | = (FRIZED | GRED B ST
(HIEFEEDRRME

30TF/A) iR SR 2 E A L TR R s Bt Bl = o B

%ﬁ%gg&{ﬁ = 2R g¢i1 %%E% _ 28@{ 28@{ 28*i o . JEE‘X-. (ZEEQ:) o @iﬁ%aﬁ

EARE@EAFEIVRTAIaVERICED _ 61k 114 1644 - _ =R 10f4: . PS5 i

T B R (515) (5¢18) = (FH29 71 PERHLHTIR

BHILOINKYBEZBA A IZ—BRRI—IL o o 2844 244, 414 g 244, PE S5

BT EY 13% (15¢418) (B capmy  ERC | e 524 e

BEEEEYR—MEORESEXIEHEZFRALE 064} 1414F 3034% 5374t 50044 8221t =R 5004% 6004t PE

PR R (1624L) (234318) (#3) (285%t1#) = (30230 | (H30#3h) FERHOR




22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

H30EE R

FxlL

L KPI H26E#E | H27E{R H283E#E H29%#8 | B4R (H30) o b B 4% (H31) 5 1= RS
BLREICRIETERORE BAIRERDAR — 0t 34k 3t e 3t =32 B — | w B
BB OFEEIET 5 RA LM — Ot 174 w3 121 2t oam | O R -
SOBRERENRNLBOEHER — — ok | 2SR | — — s | O — g
BE=ALY O RREN 23 30N iye myes i oo ER | ot - I -
SLWWKEHAL YD ZFEE — SA (%%%) (gi{g) (25?%4\) <§l¢§> E R (BESF'(:%—%%) o i
AKWHEDL YD ZBEH — — IN e e e R | — RE T
R T=BARZREN 13 A s | BN | e | G | ew = RS | Kk | RE
Eﬂ%%;‘%%@%)i%i — — 95% 97% 87% 98% = 2o I — vk
TS S E NS PR — — — 1% 2% 3% R | 4% — o
EHEIEEMOTIEHROAAESR 3175 A\ 3475 A\ 3575 A\ MF A 3575 A\ 437 A ER/L 3575 A\ — oy

T e oR R B X EE R LS _ 214k 02t 1514 B B g | O0H - —
ZETEN (7T14:H4) (59418) (H29 %7 RESREBORR
8 7 B HOK EE A XY RS K ST D AR B S — 178)5 2035 2585 250/ 2725 g | (B0 | 280 Wit
8 2K ENEBRYRST ST DREIE — L0J% 175 305 30/ 4215 g | (SO | A0 | s
ch LIRS g 12 35 (4 B SR B S 1= K B E M D BR 548 — 18077/ | 1,0505M | 31175M | 500050 | 59525M @A | 20001 H — o AR
H1-HREE SRR DIUEE Y — — @REZHE) | 320 60 A Sok, s | S0h — T
RO £ AR B — SRR || SRE — —wm | ORA | me |
BT AL T A 3 25054 | 21874 | 29554 | 300FK — — szm | J100A — it
ERONE | EER 39k 38k 50h> AN 438 |emAmERR) K 43k 50k i
%%Q%%E%%Emﬁﬂ PIRIMAZIERERISED 4.575 i 6.375 i 6.85 i 6.8 m 677 i 1.35m 359 677 ni — R
MO 2k DR LRE L B EDEEHK — 24X Sk s — — =352 I — R
NSy —EL R — 0.3k 18k fo0k | 250kr | 103k RiERL | 400k —~ M
YNIDORREBIMEERL-RBREK - AT o 4N il 4 B | Gamaan | Gaman | ke




46

47

48

49

20

a1

92

93

54

99

26

o7

28

99

60

61

62

63

64

H30EE R

FrLoo

swepe .—-—."EE '_.-I:\EE r'-l"zls .—-|"3|; ETE 4 ETE E\,g
L KPI H26X#d | H27FE& H283E#& H29%#E | H#E(H30) o " B 42 (H31) 5 1= HLER
YYIEES 123k 99k 115k 961> 51k |GemsAmeERD)  RE 162k — M
Nl g ; o | g . 981 29214 100{: 40544 g b 1250 3601 BEE
SCBIRERRT AV ERLHRAIR S ST Gran (1944 1#) (Rh) cispry  EP | GiEmgan | iy | sewmim
[AADWTEREFRRE IS MER — 132 A 207\ 255 A\ — — =359 (52%%%) — e
VTV AN BREXEEVA—FEBLERAREAD - 5914 10444 1201 16144 2 b 1201 - PES i
%ﬁﬁ{mﬁi TABBAT 2K 19FF (40FFH) (45¢18) (#5H) (57#18) ER | (is0men TR
34085H/N)
Moms A SR K 1,132 5 A 1,271 7 N\ 1,6525 A\ 1,605 N | 1,3005 A | 1697H A g 1,30005 A\ - AR AL
mAEARY (B (B ) (54 (B#) (B (BE) | ER | i) WL
‘s sals B g 876/ M 9371 M 1,255{& 1 1,257 M - 1,313{(2H S 1,20015 M _ SEHETAL
BtARA E545) 5 4F) (5545) mwe | DIOOEN ) Vimey  ERC | i G
3 K 31T A 56T A 54T N | 6A1FA 19F N s=rpms 1005 A - AR SAL
PEAEREH (5545) (E545) (5545) @ | 8OTA | (i mme ERERE (50 B E R
SBELERBGEN — — 10,600A | 165BA | 10,000A# | 34BA  ER | 10,0008 | 355K | AR
TOCIONGIEE 35S LML 1,240 51 | 3,0345M | 501951 | 54955M | 500050 | 53815M  ER | 50005 — i
=4 3 = = = - THIX O [X 144X 201h [X g 201X _ s
5o CRERFXERRRITHLR Sithlx (2HH X 1) (23 X 1) (5 (114X 1) R (HAFH) AT HRBLR
. iy [ — “hh s 1 ok - - ‘ T1E{R 15 {4 17E{K g Cp 20 A& . e £
XI)ILADO)iahulvﬂyu%ﬂii“ijaijo)lj\%E*E1$${& B{ZIK (6171:1%) (Eﬁi‘%‘l‘) (Gﬁsi%) JEE‘Z (4@?@;’2\%‘) ﬁ%@iﬂ?@%ﬁ
2 £ A St 2 JH % - 53 794 8014 10544 g 10044 _ PESEST BT
SANDERERT L VREEROEER 2T (26H) (26¢H8) (23 oo | EPC | (spman R
" = It _ 4014 4414 g b 501 _ e Tit L
H AR LS ERARBOXIRHH L2 L2 124 (B3 (32f48) EA | e o B i
et “ > TS " 1424t 213%t - _ 3 ot 105¢t - PESE 5O
177 HT) /5\<L\0)t’3-—cjb% J l‘jI_}?O)HjE*iﬂ& 35@{ 72@{ (T04-44) (71%t12) EE‘Z (H29 2 2}) PE EBUR R
B EISET SEET IL—TH 567 L—7 | 687 —TF | 80— | NTI—T (1007 V—F | 1020 )—F  #EF |[1007 1V —F — il
E UJE:E:EHE%%FEE‘Z% oS VoS L . s A T RER RS
D&% 4 EHDRE R - 1482 2182 21#% - — R | 20 — s
753 BB ST T X A A = A 5 = 5 BT
%?%fjég’gg%ﬁ%&ﬁ — 307 A 307°FIr 30 177Fr 30MFR E3513 177Fr — R
2L E AR AR _ 385 1,153{4 2,0754% 2,953 34064 =g | 37000 _ % AT
QEZLDmFFLHAERETHH (768144) (9224418) (#7) (1,331418) = (54 FH) A SRBR LR
o B e 22114 31044 40014 40214 g b 4901 . G A BB
SRR AR 53 1311 (9014-1) (8944 18) () (924418) Rk (SAER R ET) BREEBORRR
1 Rl 54 1644
1E Al 5232 0
1E i, ) B 1
ARiERK 5
RE 4
IV 64
ZEREE | 90.0% |uekieramd




